
STOP

STOP

804

2676.71

STOP

DN

ONLY
ONLY

ONLY
ONLY

STOP

ONLY

ONLY ONLYONLY

ONLY
ONLY

STOP

STO
P

STO
P

+12"

+12"

+18"

+42"

+36"

+14"

+18"

+14"
+18"

+36"

1. COORDINATE WITH CIVIL AND LANDSCAPE.

2. REFER TO GATE SCHEDULE FOR SIZE AND HARDWARE.

general notes

15

A1

B2

B3

B4

A5

B6
B7 B8

B9

B10

B11

1202

1102

5202

5102

1201

1101

1203

1103

1204

1104

1205

1105
1207

1107

1208

1108
1206

1106

5201

5101

5203

5103

5204

5104

5205

5105

5206

5106

5207

5107

5208

5108

2301

2201

2101

2302

2202

2102

2303

2203

2103

2304

2204

2104

2305

2205

2105

2306

2206

2106

2307

2207

2107

2308

2208

2108

3301

3201

3101

3302

3202

3102

3303

3203

3103

3304

3204

3104

3305

3205

3105

3306

3206

3106

3307

3207

31073308

3208

3108

4308

4208

4108

4307

4207

4107

4306

4206

4106

4305

4205

4105

4304

4204

4104

4303

4203

4103

4302

4202

4102

4301

4201

4101

6301

6201

6101

6302

6202

6102

6303

6203

6103
6304

6204

6104

6305

6205

61056306

6206

6106

6307

6207

6107
6308

6208

6108

7301

7201

7101

7302

7202

7102

7303

7203

7103

7304

7204

7104

7305

7205

7105

7306

7206

7106

7307

7207

7107

7308

7208

7108

8301

8201

8101

8302

8202

8102

8303

8203

8103

8304

8204

8104

8305

8205

81058306

8206

8106

8307

8207

81078308

8208

8108

9301

9201

9101

9302

9202

9102

9303

9203

9103

9304

9204

9104

9305

9205

9105

9306

9206

9106

9307

9207

9107

9308

9208

9108 10301

10201

10101

10302

10202

10102

10303

10203

10103

10304

10204

10104

10305

10205

10105

10306

10206

10106

10307

10207

10107

10308

10208

10108

16

11301

11201

11101

11302

11202

11102

11303

11203

11103

11304

11204

11104

11305

11205

11105

11306

11206

11106

11307

11207

11107

11308

11208

11108

x1.2
1

FR

B12

12302

12202

12102

12304

12204

12104

12306

12206

12106

12308

12208

12108

12301

12201

12101

12303

12203

12103

12305

12205

12105

12307

12207

12107

13308

13208

13108

13307

13207

13107

13302

13202

13102

13301

13201

13101

13304

13204

13104

13306

13206

13106

13305

13205

13105

13303

13203

13103

14302

14202

14102 14304

14204

14104

14306

14206

14106

14308

14208

14108

14301

14201

14101 14303

14203

14103
14305

14205

14105

14307

14207

14107

B13

B14

FR

FR

FR

NFPA 13 SYSTEM

FR

FR

FR

FR

FR

FR

FR

FR

FR

FR

FR

NFPA 13 SYSTEM

TANGERINE ROAD

INNOVATION PARK DRIVE

x2.0
1

x1.1
1

x1.3
1a1.0

1

a1.0
4

a1.0
2

a1.0
3

320 APARTMENT UNITS TOTAL

2% OF WHICH SHALL BE ACCESSIBLE UNITS
320 x 2% = 6.4 THEREFORE (7) ACCESSIBLE UNITS ARE REQUIRED.  
ALL OTHER FIRST FLOOR UNITS SHALL BE FULLY ADAPTABLE TO 
UNITS.

SEE ARCHITECTURAL FLOOR PLANS FOR UNIT LOCATIONS WITHIN 
EACH BUILDING.

apartment type calcs:

FIRE SPRINKLERS:

1. REQUIRED SPRINKLER SYSTEM ALLOWED TO BE NFPA 13R ON 
MOST BUILDING.

2. DUE TO LIMITED FIRE TRUCK ACCESS AT BUILDINGS 1 AND 2 
SPRINKLER SYSTEM SHALL BE NFPA 13.

FIRE / SMOKE DETECTION / ALARM
1. SMOKE DETECTOR ONLY. BUILDING OCCUPANCY LESS THAN 

300, BUILDING FULLY SPRINKLERED.

2. WATER FLOW AND TAMPER SWITCH OPERATION FOR EACH 
SPRINKLER RISER AS WELL AS THE MANUAL FIRE ALARM 
SYSTEM IN THE LEASING OFFICE (CLUBHOUSE) SHALL BE 
MONITORED OFF-SITE BY A U.L. LISTED FIRE ALARM 
MONITORING STATION.

3. THE WATERPROOF HORN/STROBE WATER FLOW 
NOTIFICATION DEVICE SHALL BE LOCATED ON  EACH 
BUILDING NEAR THE FIRE SPRINKLER RISER ROOM.

fire sprinkler notes

N.T.S.

UNIT NUMBER

3-STORY BUILDING B PLAN  (9 TOTAL)

2

5

6

34

11

1

(8)

(7)(5)(3)(1)

(6)(4)(2)

building type legend

UNIT PLAN TYPE

N.T.S.

UNIT NUMBER

2-STORY BUILDING A PLAN  (2 TOTAL)

2

5

6

3a4

11

1

(8)

(7)(5)(3)(1)

(6)(4)(2)

UNIT PLAN TYPE

site plan legend

12301

12201

12101
SECONF FLOOR UNIT NUMBER

FIRST FLOOR UNIT NUMBER

THIRD FLOOR UNIT NUMBER

INDICATES ACCESSIBLE UNIT LOCATED ON 
THE GROUND FLOOR

UNIT NUMBER

FLOOR

BUILDING NUMBER

A1

BUILDING NUMBER

BUILDING TYPE

FIRE RISER ROOMFR

job

date

revisions

ASSOCIATES LTD
ARCHITECTS AIA

7350 EAST SPEEDWAY 210
TUCSON, ARIZONA 85710

(520) 326-3700

www.swaimaia.com

3
/7

/2
0
2
5

 1
:1

9
:0

6
 P

M
A

u
to

d
e

s
k
 D

o
c
s
:/
/H

S
L

 E
n

c
a
n

ta
d
a
 O

ro
 V

a
lle

y
 M

a
rk

e
tP

la
c
e
/2

4
1
5

_
R

2
5
_

 E
O

M
_

S
it
e
 P

la
n
_
C

F
.r

v
t

s
it

e
 p

la
n

H
S

L
 E

N
C

A
N

T
A

D
A

 M
A

R
K

E
T

P
L

A
C

E

2415

03.06.25

L
U

X
U

R
Y

 A
P

A
R

T
M

E
N

T
 H

O
M

E
S

C
O

M
M

O
N

 A
R

E
A

S

O
R

O
 V

A
L

L
E

Y
, 

A
R

IZ
O

N
A

x1.0

keynotes

n
o
rt

h1" = 50'-0"x1.0

1
site plan - reference

NUMBER OF DWELLING UNITS

BUILDING #

TOTAL

UNITS

FULLY

ACCESSIBLE

UNITS

FULLY

ADAPTABLE

UNITS

ACCESSIBLE

UNIT TYPE

AND NUMBER

BUILDING 1 16 0 8

BUILDING 2 24 0 8

BUILDING 3 24 0 8

BUILDING 4 24 1 7 5

BUILDING 5 16 0 8

BUILDING 6 24 1 7 2

BUILDING 7 24 0 8

BUILDING 8 24 0 8

BUILDING 9 24 1 7 3

BUILDING 10 24 1 7 1

BUILDING 11 24 1 7 1

BUILDING 12 24 1 7 4

BUILDING 13 24 0 8

BUILDING 14 24 1 7 6

Grand total: 14 320 7 105

PRELIMINARY

N

O
T F

O

R

C
O

N

S
T R U C

T

I
O

N



DN

R
E

F
.

1. DO NOT SCALE DRAWINGS. COORDINATE ALL WORK 

BETWEEN ARCHITECTURAL, STRUCTURAL, CIVIL, 

MECHANICAL, PLUMBING, COMMUNICATIONS AND 

ELECTRICAL DRAWINGS, CONFLICTS SHALL BE BROUGHT TO 

THE ATTENTION OF THE ARCHITECT PRIOR TO THE 

IMPLEMENTATION OF WORK.

2. REFER TO PLUMBING, MECHANICAL AND ELECTRICAL 

DRAWINGS FOR ALL APPLICABLE CODES FOR REQUIRED 

CLEARANCES OF EQUIPMENT.

3. SEE SHEET a8.0 FOR WINDOW  AND DOOR TYPES.

4. SEE SHEET a9.0 FOR WALL TYPES.

general notes

CLASS

129

A129B

3

A

PARTITION TYPE

WINDOW MARK

DOOR NUMBER

ROOM NAME / NUMBER SEE SHEET SERIES "X"

SEE SHEET SERIES "X"

SEE SHEET SERIES "X"

SEE SHEET SERIES "X"

floor plan sheet legend

B C E

F

G

J

3

44

5

7'
-3

"

1"1
'-5

"

2'-
0"

5'-
0"

LOBBY

100

FITNESS

117

SALES

116

RR

119

M RR

114

W RR

113

THEATER

111

AV

112

BREAK

107

LAUNDRY

108

JAN

109

RECEP.

101

WORK

104

FILE

105

TELE.

106

OFFICE 2

103

OFFICE 1

102

AMAZON

123

F.R.

120

RR

118

GALLERY

110

EQUIPMENT

YARD

121

ELECTRICAL

YARD

122

a4.02

a4.0

1

a4.0 4

a4.0

3

WIFI

CENTER

115

1

1

a5.0

2

a5.0

3

a5.0

4

a5.0

5

a5.0

6

a5.0

1
1
1
A

119

114A

113A

1
1
2
A

1
1
2
B

111B

100A

1
0
8

104

1
0
2

1
0
3

1
0
5

1
0
6

1
0
7

123A

116

1
1
8

1
2
0

110A
1
2
1

122

1
1
0
B

1
1
4
B

113B

1
1
3
C

1
1
7
A

1
2
3
B

MB.6

MB.6

MB.6

MB.6

MS.6

MS.6

MS.6

MS.6

MS.6

MS.6

T.6

T.6

T.6

T.6

MS.6

MS.6

MS.6

MS.6

MS.6

MS.6

MS.6

MS.6

MS.6

MSX.6

MSX.6

MS.6

MS.6

MS.6

MS.6

MS.6

MS.6

MS.6

ESX.4

T.6

T

T

T.6

T

TX.6

T

T

T

T

TX

5

3

4

6

6

67

6

6

8
17

9

10

11

12

13

14

15

15

a7.0
2

a7.0
1

A D H I

K

L

M

2

6
7

88

9

10

11

12

keynotes job

date

revisions

ASSOCIATES LTD
ARCHITECTS AIA

7350 EAST SPEEDWAY 210
TUCSON, ARIZONA 85710

(520) 326-3700

www.swaimaia.com

3
/7

/2
0
2
5

 9
:2

3
:4

0
 A

M
A

u
to

d
e
s
k
 D

o
c
s
:/
/H

S
L

 E
n

c
a
n

ta
d

a
 O

ro
 V

a
lle

y
 M

a
rk

e
tP

la
c
e

/2
4

1
5
_

R
2
5

_
E

O
M

_
C

lu
b

h
o
u

s
e
.r

v
t

fl
o

o
r 

p
la

n
H

S
L

 E
N

C
A

N
T

A
D

A
 M

A
R

K
E

T
P

L
A

C
E

2415

03.06.25

L
U

X
U

R
Y

 A
P

A
R

T
M

E
N

T
 H

O
M

E
S

C
L

U
B

H
O

U
S

E

O
R

O
 V

A
L

L
E

Y
, 

A
R

IZ
O

N
A

a1.0

PRELIMINARY

N

O
T F

O

R

C
O

N

S
T R U C

T

I
O

N

n
o
rt

h1/8" = 1'-0"a1.0

1
floor plan



UP

UP

UP

UP

UP

UP

UP

UP

UP

UP

UP

UP

1. DO NOT SCALE DRAWINGS. COORDINATE ALL WORK 
BETWEEN ARCHITECTURAL, STRUCTURAL, CIVIL, 
MECHANICAL, PLUMBING, COMMUNICATIONS AND 
ELECTRICAL DRAWINGS, CONFLICTS SHALL BE BROUGHT TO 
THE ATTENTION OF THE ARCHITECT PRIOR TO THE 
IMPLEMENTATION OF WORK.

2. REFER TO PLUMBING, MECHANICAL AND ELECTRICAL 
DRAWINGS FOR ALL APPLICABLE CODES FOR REQUIRED 
CLEARANCES OF EQUIPMENT.

3. SEE SHEET a8.0 FOR WINDOW  AND DOOR TYPES.

4. SEE SHEET a9.0 FOR WALL TYPES.

5. SEE DOOR SCHEDULE ON SHEET a8.1 FOR DOOR RATINGS.

6. DIMENSIONS THIS SHEET ARE TO FACE OF SHEATHING WHICH 
MATCHES SLAB EDGE, AND TO CENTER LINE OF DEMISING 
WALL.

7. REFER TO SHEET g1.2 FOR MOUNTING HEIGHTS, 
CLEARANCES, CABINET AND COUNTER REQUIREMENTS.

8. REFER TO SHEET g3.0 FOR RATED CEILING/FLOOR ASSEMBLY 
OPTIONS. AND g3.1 FOR RATED WALL ASSEMBLY DETAILS

floor plan general notes

floor plan sheet legend

CLASS

129

A129B

3

A

PARTITION TYPE

WINDOW MARK

DOOR NUMBER

ROOM NAME / NUMBER

SEE SHEET SERIES a8.1

SEE SHEET SERIES a8.1

SEE SHEET SERIES a9.0

a4.0

5

a4.06

a4.0

5/a9.2

a4.0 2

C

a5.1

C
a5.1

B

a5.0

B

a5.0

A
a5.0

A

a5.0

D

a5.1

D
a5.1

STAIR 1

STAIR 3

STAIR 2
STAIR 4

12'-0 7/8" 4'-5 1/2" 24'-0 3/4" 10'-5 1/4" 16'-10" 3'-8 3/4" 9'-3 1/4" 3'-8 3/4" 16'-10" 10'-3 1/2" 22'-11 1/8" 3'-8 3/4" 26'-9"

8'-
4"

22
'-0

 3/
4"

10
'-3

 5/
8"

20
'-6

 3/
4"

8'-
6"

9'-11" 14'-3" 16'-6 5/8" 10'-3 3/4" 16'-10" 3'-8 3/4" 9'-3 1/4" 14'-0 3/4" 17'-0" 8'-3 1/2" 10'-7 1/4" 3'-11 1/4" 18'-7 5/8" 12'-0 3/4"

4'-
3 1

/8"
25

'-0
 3/

4"
10

'-5
 5/

8"
22

'-2
 3/

4"
4'-

8"
7'-

0"

8'-
7 1

/8"

1'-
11

 7/
8"

4'-
8 1

/4"

2'-
0"

2'-
0"

3'-
9 1

/2"

8'-
6"

22'-0"

5 1
/2"

8'-
4"

3'-
10

 3/
8"

5'-
10

"

7'-
0"

2'-
0"

4'-
8 1

/4"

2'-
0"

16
'-1

1 1
/2"

17'-10"

1'-0"

1'-0"

71'-7 1/8" 84'-3 1/8"

29
'-0

 3/
4"

7 5
/8"

30
'-4

 3/
4"

33
'-1

0 3
/4"

165'-1 1/2"

165'-5 1/2"

17'-10"

22'-4"

84'-7 1/8"71'-7 1/8"

5.12

a10.0
6

TYP.

UNIT#1 UNIT#1 UNIT #6

UNIT #3UNIT #4UNIT#1

ST-4 ST-3

ST-1 ST-2

5.12

5.12

5.12

3.3

21.2

WS.6 WSX

WSX

WS.6

WS.6
WS.6 WS.6 WS.6

WS.6

WS.6

WS.6

1WS

WS.6

WS.6 WS.6

WS.6

WS.6

WS.6

WS.6

WS.6

WS.6

WS.6

WS.6

1WS

1WS

1WS

WS.6

WS.6
WS.6

WS.6

WS.6

WS.6

WS.6

WS.6

WS.6

WS.6

WS.6

WS.6
WS.6

WS.6

1WS

1WS
1WS

1WS

WS.6

WS.6WS.6

WS.6

WS.6

WS.6

WS.6

WS.6

WS.6

WS.6

WS.6

1WS

1WS1WS

WS.6

1WS

1WS

1WS

1WS

1WS

3.3

3.3

3.3

F
a5.2

WWW

W

21.3

8'-
9 1

/2"
25

'-7
 1/

4"
26

'-1
0 3

/8"

7'-
0"

33
'-0

 3/
8"

25
'-0

 3/
4"

35
'-0

 3/
8"

25
'-0

 7/
8"

40'-6 3/4" 31'-0 3/8" 9'-3 1/4" 39'-6 3/8" 45'-0 3/4"

1DDS 1DD

1DS

1DD

1DD

1DDS1DD1DD1DD

1DD

1DS

1DS

1DS

a4.08

a4.07

a4.0 4

8

9

4

4

5

7

3

1WS 1WS

1W.6
a4.09

a4.0 3

9.14

9.14

9.14

9.149.14

9.14
9.14

5 7
/8"

10

a9.3

UNIT #2

UNIT #5

ESES

ES

ES

ES ES

ES ES

ES

ES ES

ES

ES

ES

ES

ES.4

ES

ES

5 6

3

9

5

D12 D12

D12 D12

D11

22.13

22.13

22.13

D11
7.27

7.27

7.27

7.27

7.27

7.27 7.27

7.27

7.27

7.27

4'-
8 1

/4"

4'-
8 1

/4"
15

'-1
0 3

/4"

G

a5.2

57 8

5

5

4

75
'-6

 3/
4"

40'-6 3/4" 31'-0 3/8"

25
'-0

 7/
8"

1'-0"

31'-0 3/8" 53'-2 3/4"

25
'-0

 7/
8"

26.1

6.4

23.7

22.6

1W.6 1W.6

1W.6

1W.6

a9.2
11

a9.2
12

a9.2
11

a9.2
18

WBX.6

WBX.6WBX.6

a9.2
11 a9.2

11

a9.2
11

a9.2
11

a9.2
12a9.2

11

WS.6WS.6

a9.2
18

WBX.6

WBX.6

WBX.6

a9.2
11

a9.10
11

a9.2
14

W3'-
8"

2'-2"

2'-2 7/8"

2'-2 7/8" 2'-2"

3'-
8"

10
'-4

 7/
8"

3'-
8"

22.13

7.27

3

3

a4.0

5

C

a5.1

C

a5.1

B
a5.0

B

a5.0

A

a5.0

A

a5.0

a10.0
6

a10.0
1

a10.1
1

a10.1
7

D

a5.1

D

a5.1

ST-8 ST-7

ST-5 ST-6

12
'-0

 1/
4"

4'-
8 1

/4"
23

'-5
 1/

2"

4'-
8 1

/4"
23

'-5
 1/

2"
4'-

8 1
/4"2'-

0"
4'-

8 1
/4"

1'-0"

STAIR 1

STAIR 3

STAIR 2

STAIR 4

D12 D12

D12 D12

WS.6

WS.6

WS.6

WBX.6

1WS

1WS
1WS

1WS

1WS

WS.6

WS.6

WS.6

WS.6

1WS

WS.6

WS.6

WS.6
WS.6

WS.6

1WS1WS

1WS

1WS

WS.6

WS.6WS.6

WS.6

WS.6

WS.6
WS.6

1WS5.12

5.12

5.12

5.12

F

a5.2

WSX

WSX

WS.6

WSX

WSX

WSX

WSX

WSX

WSX

WSX

WSX

WSX

31'-0 3/8" 48'-9 5/8"

25
'-0

 7/
8"

25
'-0

 7/
8"

25
'-0

 7/
8"

a4.08

a4.07

a4.0 4

1DDS

1DD1DD1DD

1DD

1DD

1DS1DS

1DD1DD1DD1DD1DDS

1WS

5

8

7

4

5

5

7 8 5

4

1DS

1DS

1DS

1WS

9

3

W

W

a4.09
a4.0 3

TYP.

4
a9.2TYP

1WSUNIT #2 UNIT#1 UNIT#1

UNIT #5 UNIT#1 UNIT #4
UNIT #3

UNIT #6

9

655

1DS

G

a5.2

4

3

WS.6

WS.6

WS.6

WS.6

WS.6

WSX

WS.6

WS.6

WS.6

WS.6

WS.6

WS.6

WSX

WS.6 WS.6 WS.6

WS.6 WS.6

WS.6

WS.6

20
'-6

 3/
4"

10
'-3

 5/
8"

22
'-0

 3/
4"

8'-
4"

8'-
6"

4 3
/4"

29
'-5

 1/
2"

30
'-4

 3/
4"

7 5
/8"

70
'-9

 1/
2"

5 1
/2"

12'-0 3/4"18'-7 5/8"3'-11 1/4"10'-7 1/4"17'-0" 8'-3 1/2"3'-8 3/4"16'-10"10'-3 3/4"16'-6 5/8"14'-3"9'-11"

71'-7 1/8"

165'-5 1/2"

7'-
0"

7'-
0"

4'-
8"

22
'-2

 3/
4"

10
'-5

 5/
8"

25
'-0

 3/
4"

4'-
3 1

/8"

33
'-1

0 3
/4"

29
'-3

 7/
8"

8'-
7 1

/8"

1'-
11

 7/
8"

12'-0 7/8" 4'-5 7/8" 24'-0 3/8" 10'-5 1/4" 16'-10" 3'-8 3/4" 9'-3 1/4" 3'-8 3/4" 16'-10" 10'-3 1/2" 22'-11 1/8" 3'-8 3/4" 26'-9"

71'-7 1/8" 84'-3 1/8"

165'-1 1/2"

22'-0"

22'-4" 1WS

53'-2 3/4"

8'-
9 1

/2"

45'-0 3/4"

35
'-0

 3/
8"

31'-0 3/8"

2'-
0"

3'-
9 1

/2"

1'-0"

1'-0"

WS.6

31'-0 3/8"40'-6 3/4"

1WS

1WS

17'-10"

17'-10"

25
'-0

 3/
4"

33
'-0

 3/
8"

40'-6 3/4"

22.6

26.1

23.7

26.1

23.7

26.1

22.6

23.7

1W.6

1W.6

1W.6

1W.6

a9.2
16

2

a9.4

a9.2
16

a9.2
17

a9.2
16 a9.2

16

3'-
8"

10
'-4

 7/
8"

3'-
8"

1'-10 7/8" 2'-2"

1'-
4"

2'-
0 3

/4"

a9.2
16

a9.2
17a9.2

16

WBX.6

a9.2
16

a9.2
16

3'-
8"

2'-2" 2'-2 7/8"

3'-11 1/2"3'-11"

10

a9.3

14

a9.2

a9.4
8

a9.4
8

a9.4
8

a9.4
8

a9.4
8

8'-
6"

26
'-1

0 3
/8"

25
'-7

 1/
4"

7.27

7.27

7.27
7.27

7.27

7.27

7.27
7.277.27

ES

ES
ES

ES ES

ES

ES ES

ES

ES

ES

ES

ES.4

ES

ES

ES

ES

ES

ES

job

date

revisions

7350 EAST SPEEDWAY 210
TUCSON, ARIZONA 85710

(520) 326-3700
(520) 326-1148

www.swaimaia.com

OFFICE
FAX

ASSOCIATES LTD
ARCHITECTS AIA

3
/6

/2
0
2
5

 1
:4

9
:5

2
 P

M
A

u
to

d
e

s
k
 D

o
c
s
:/
/H

S
L

 E
n

c
a

n
ta

d
a
 O

ro
 V

a
lle

y
 M

a
rk

e
tP

la
c
e
/2

4
1

5
_
R

2
5
_

E
O

M
_
B

u
ild

in
g
 B

.r
v
t

fl
o

o
r 

p
la

n
 l
e

v
e

l 
1

 a
n

d
 2

 -
B

u
il
d

in
g

 B
H

S
L

 E
N

C
A

N
T

A
D

A
 O

.V
. 
M

A
R

K
E

T
P

L
A

C
E

2415

03.06.25

L
U

X
U

R
Y

 A
P

A
R

T
M

E
N

T
 H

O
M

E
S

B
U

IL
D

IN
G

 T
Y

P
E

 B

O
R

O
 V

A
L

L
E

Y
, 

A
R

IZ
O

N
A

a1.0

1/8" = 1'-0"a1.0

1
floor plan - level 1 - building B

1/8" = 1'-0"a1.0

2
floor plan - level 2 - building B

3.3 CONCRETE SIDEWALK, REFER TO LANDSCAPE AND CIVIL.

5.12 PRE-ENGINEERED STEEL STAIR SYSTEM WITH CONCRETE
TREADS AND STEEL GUARDRAILS AND HANDRAILS.

6.4 SHELF.

7.27 SCUPPER THROUGH PATIO WALL, 4" X 8".

9.14 STUCCO SYSTEM OVER WOOD FRAMED PARTIAL HEIGHT
WALL.

21.2 FIRE DEPARTMENT CONNECTION.

21.3 ALTERNATE FIRE RISER LOCATION - REFER TO CIVIL SITE
PLAN FOR CONNECTION LOCATION.

22.6 WATER HEATER, REFER TO PLUMBING.

22.13 RAIN WATER LEADER OUTLET.

23.7 HVAC UNIT - REFER TO MECHANICAL.

26.1 ELECTRICAL PANEL, REFER TO ELECTRICAL.

keynotes

WALL SCHEDULE

M
A

R
K

DESCRIPTION W
ID

T
H

S
T

C
 R

A
T

IN
G

F
IR

E
 R

A
T

IN
G

U
L

#

1D 5/8" TYPE 'X' GWB, 1/2" RESILIENT
CHANNEL, 2x4 WOOD STUDS, 1/2"
AIR SPACE, 2x4 WOOD STUDS, 1/2"
SOUND BOARD, 1/2" SHEAR PANEL,
5/8" TYPE 'X' GWB

8 7/8" 40 1HR U340

1DD 5/8" TYPE 'X' GWB, 5/8" RESILIENT
CHANNEL, 2x4 WOOD STUDS, 4 1/2"
AIR SPACE, 2x4 WOOD STUDS, 5/8"
SOUND BOARD, 5/8" TYPE 'X' GWB

1' - 0 1/2" 40 1HR U386

1DDS 5/8" TYPE 'X' GWB, 5/8" RESILIENT
CHANNEL, 2x4 WOOD STUDS, 4 1/2"
AIR SPACE, 2x4 WOOD STUDS, 5/8"
SOUND BOARD, 5/8" TYPE 'X' GWB

1' - 0 7/8" 40 1HR U386

1DS 5/8" TYPE 'X' GWB, 1/2" RESILIENT
CHANNEL, 2x4 WOOD STUDS, 1/2"
AIR SPACE, 2x4 WOOD STUDS, 1/2"
SOUND BOARD, 1/2" SHEAR PANEL,
5/8" TYPE 'X' GWB

8 7/8" 40 1HR U340

1W.6 5/8" GWB, 2x6 WOOD STUD, 5/8" GWB 6 3/4" N/A 1HR U305

1WS 5/8" GYP BD,2x6 WD FRAMING, BATT
INSULATION, 3/8"-1/2" WOOD
SHEATHING, WEATHER BARRIER, 1"
RIGID INSULATION, STUCCO
SYSTEM

7 7/8" 1HR EER
#382

ES STUCCO SYSTEM, WEATHER
BARRIE, 3/8" WOOD SHEATHING, 2x6
WD FRAMING, 3/8" WOOD
SHEATHING, WEATHER BARRIER,
STUCCO SYSTEM

6 3/4" N/A NR N/A

ES.4 STUCCO SYSTEM, WEATHER
BARRIER, 3/8" WOOD SHEATHING,
2x4 WD FRAMING, 3/8" WOOD
SHEATHING, WEATHER BARRIER,
STUCCO SYSTEM

5" N/A NR N/A

ESW STUCCO SYSTEM, 1 " RIGID FOAM,
WOOD SHEATHING, 2x6 WOOD
STUD; 3/8" SHEATHING AT
PARAPETS

8 3/8" N/A NR N/A

W 5/8" GWB, 2x4 WOOD STUD, 5/8" GWB 4 3/4" N/A NR N/A

W2 5/8" GWB, 2x4 WOOD STUD, SOUND
BATTS, 5/8" GWB

4 3/4" -- NR N/A

W.2 5/8" GWB, 2x4 WOOD STUD, 5/8" GWB 2 3/4" N/A NR N/A

W.6 5/8" GWB, 2x6 WOOD STUD, 5/8" GWB 6 3/4" N/A NR N/A

WBX.6 BRICK VENEER ON SCRATCH COAT,
1 " RIGID FOAM, WOOD SHEATHING,
2x6 WOOD STUD, 5/8" GYPSUM
BOARD INTERIOR SIDE.

8 1/2" N/A NR N/A

WS.6 5/8" GYP BD,2x6 WD FRAMING, BATT
INSULATION, 3/8"-1/2" WOOD
SHEATHING, WEATHER BARRIER, 1"
RIGID INSULATION, STUCCO
SYSTEM

7 7/8" N/A NR N/A

WSX STUCCO SYSTEM, WEATHER
BARRIER, 1" RIGID INSULATION, 3/8"
WOOD SHEATHING, 2X4 WOOD
FRAMING

5 1/4" N/A NR N/A

WX.6 5/8" GWB, 2x6 WOOD STUD 6 1/8" N/A NR N/A

PRELIMINARY

N

O
T F

O

R

C
O

N

S
T R U C

T

I
O

N



DN

DN

DN

DN

1. DO NOT SCALE DRAWINGS. COORDINATE ALL WORK 
BETWEEN ARCHITECTURAL, STRUCTURAL, CIVIL, 
MECHANICAL, PLUMBING, COMMUNICATIONS AND 
ELECTRICAL DRAWINGS, CONFLICTS SHALL BE BROUGHT TO 
THE ATTENTION OF THE ARCHITECT PRIOR TO THE 
IMPLEMENTATION OF WORK.

2. REFER TO PLUMBING, MECHANICAL AND ELECTRICAL 
DRAWINGS FOR ALL APPLICABLE CODES FOR REQUIRED 
CLEARANCES OF EQUIPMENT.

3. SEE SHEET a8.0 FOR WINDOW  AND DOOR TYPES.

4. SEE SHEET a9.0 FOR WALL TYPES.

5. SEE DOOR SCHEDULE ON SHEET a8.1 FOR DOOR RATINGS.

6. DIMENSIONS THIS SHEET ARE TO FACE OF SHEATHING WHICH 
MATCHES SLAB EDGE, AND TO CENTER LINE OF DEMISING 
WALL.

7. REFER TO SHEET g1.2 FOR MOUNTING HEIGHTS, 
CLEARANCES, CABINET AND COUNTER REQUIREMENTS.

8. REFER TO SHEET g3.0 FOR RATED CEILING/FLOOR ASSEMBLY 
OPTIONS. AND g3.1 FOR RATED WALL ASSEMBLY DETAILS

floor plan general notes

floor plan sheet legend

CLASS

129

A129B

3

A

PARTITION TYPE

WINDOW MARK

DOOR NUMBER

ROOM NAME / NUMBER

SEE SHEET SERIES a8.1

SEE SHEET SERIES a8.1

SEE SHEET SERIES a9.0

a4.0

5

a4.0

5/a9.2

C
a5.1

C

a5.1

B

a5.0

B

a5.0

A

a5.0

A

a5.0

a10.0
2

a10.0
7

a10.1
2

a10.1
8

D
a5.1

D

a5.1

14'-3" 26'-10 3/8" 16'-10" 3'-8 3/4" 23'-4" 39'-10" 18'-7 5/8"

S
T

A
IR

 1
S

T
A

IR
 3

STAIR 2

STAIR 4

ST-11

D12

D12

D12

4'-
8 1

/4"
4'-

8 1
/4"

WS.6 WS.6

1WS

1WS
1WS

1WS 1WS

WS.6

WS.6

1WS

WS.6WS.6

WS.6

1WS
WS.6

1WS

WS.6

WS.6

WS.6

WS.6

WS.6

1'-0"

17
'-1

0 3
/4"

F

a5.2

WSX

WSX WSX

WSX

WSXWSX

40'-6 3/4" 31'-0 3/8" 48'-9 5/8"

40'-6 3/4" 71'-4"

25
'-0

 7/
8"

25
'-0

 7/
8"

a4.08

a4.07

a4.0 4

4

4 4

5

5

8

9

8 57

7

a4.09
a4.0 3

1WS

1WS

1WS

1WS

1WS

1DDS

1DD

1DD 1DD 1DD

1DD

1DD 1DD 1DDS

1D
1D

ST-10

ST-9

UNIT #2 UNIT#1 UNIT#1

UNIT #5 UNIT#1 UNIT #4 UNIT #3

UNIT #6

5 6

3

9

5

1WS

1D
1D

8'-
4 5

/8"

WS.6

4'-
8 1

/4"
15

'-1
0 3

/4"
4'-

8 1
/4"

9'-10 5/8" 12'-0 3/4"

71'-6 1/8"

165'-4 1/2"

WS.6

5.12

5

3

25
'-0

 3/
4"

4'-
3 1

/8"
10

'-5
 5/

8"
22

'-2
 3/

4"
4'-

8"
7'-

0"

33
'-1

0 3
/4"

29
'-3

 7/
8"

1'-
11

 7/
8"

75
'-8

 1/
8"

G

a5.2

WSX

WSX

4'-5 7/8"

WS.6

9'-3 1/4" 3'-8 3/4" 50'-0 5/8" 3'-8 3/4" 26'-9"

84'-3 1/8"

WS.6

WS.6

8'-
6"

WS.6

3'-
9 1

/2"

8'-
2 5

/8"
22

'-0
 3/

4"
10

'-3
 5/

8"

9"
30

'-3
"

28
'-1

1 3
/8"

70
'-3

 3/
8"

WS.6

5.12

22'-0"

WS.6

3'-11 1/4"

45'-0 3/4"

WS.6

53'-2 3/4"

17'-10"

5.12

a9.2
16

a9.2
17

a9.2
16

a9.2
16

a9.2
16

a9.2
16a9.2

16

a9.2
16

a9.2
17

23.7

22.6

23.7

26.1

22.6 22.6

23.7

23.7

22.6

23.7

WSX

a9.4
8

a9.4
8

a9.4
8

a9.4
8

a9.4
8

1

a9.4

8'-
6"

26
'-1

0 3
/8"

25
'-7

 1/
4"

8'-
9 1

/2"

35
'-0

 3/
8"

25
'-0

 7/
8"

10
'-8

 1/
4"

10
'-8

 1/
4"

8'-
7 1

/8"
25

'-0
 3/

4"
33

'-0
 3/

8"

7.27

7.27

7.27 7.27
7.27

7.27

7.277.27
7.27

ES

ES ES

ES ES

ES

ES ES

ESES

ES

ES

ES

ES.4

ES

ES

ES
ES

ES

2

a6.3

2

a6.3

ES

ES

ES

ES

job

date

revisions

7350 EAST SPEEDWAY 210
TUCSON, ARIZONA 85710

(520) 326-3700
(520) 326-1148

www.swaimaia.com

OFFICE
FAX

ASSOCIATES LTD
ARCHITECTS AIA

3
/6

/2
0
2
5

 1
:5

2
:1

8
 P

M
A

u
to

d
e

s
k
 D

o
c
s
:/
/H

S
L

 E
n

c
a

n
ta

d
a
 O

ro
 V

a
lle

y
 M

a
rk

e
tP

la
c
e
/2

4
1

5
_
R

2
5
_

E
O

M
_
B

u
ild

in
g
 B

.r
v
t

fl
o

o
r 

p
la

n
 l
e

v
e

l 
3

 -
B

u
il
d

in
g

 B
H

S
L

 E
N

C
A

N
T

A
D

A
 O

.V
. 
M

A
R

K
E

T
P

L
A

C
E

2415

03.06.25

L
U

X
U

R
Y

 A
P

A
R

T
M

E
N

T
 H

O
M

E
S

B
U

IL
D

IN
G

 T
Y

P
E

 B

O
R

O
 V

A
L

L
E

Y
, 

A
R

IZ
O

N
A

a1.1

1/8" = 1'-0"a1.1

1
floor plan - level 3 - building B

5.12 PRE-ENGINEERED STEEL STAIR SYSTEM WITH CONCRETE
TREADS AND STEEL GUARDRAILS AND HANDRAILS.

7.27 SCUPPER THROUGH PATIO WALL, 4" X 8".

22.6 WATER HEATER, REFER TO PLUMBING.

23.7 HVAC UNIT - REFER TO MECHANICAL.

26.1 ELECTRICAL PANEL, REFER TO ELECTRICAL.

keynotes

WALL SCHEDULE

M
A

R
K

DESCRIPTION W
ID

T
H

S
T

C
 R

A
T

IN
G

F
IR

E
 R

A
T

IN
G

U
L

#

1D 5/8" TYPE 'X' GWB, 1/2" RESILIENT
CHANNEL, 2x4 WOOD STUDS, 1/2"
AIR SPACE, 2x4 WOOD STUDS, 1/2"
SOUND BOARD, 1/2" SHEAR PANEL,
5/8" TYPE 'X' GWB

8 7/8" 40 1HR U340

1DD 5/8" TYPE 'X' GWB, 5/8" RESILIENT
CHANNEL, 2x4 WOOD STUDS, 4 1/2"
AIR SPACE, 2x4 WOOD STUDS, 5/8"
SOUND BOARD, 5/8" TYPE 'X' GWB

1' - 0 1/2" 40 1HR U386

1DDS 5/8" TYPE 'X' GWB, 5/8" RESILIENT
CHANNEL, 2x4 WOOD STUDS, 4 1/2"
AIR SPACE, 2x4 WOOD STUDS, 5/8"
SOUND BOARD, 5/8" TYPE 'X' GWB

1' - 0 7/8" 40 1HR U386

1DS 5/8" TYPE 'X' GWB, 1/2" RESILIENT
CHANNEL, 2x4 WOOD STUDS, 1/2"
AIR SPACE, 2x4 WOOD STUDS, 1/2"
SOUND BOARD, 1/2" SHEAR PANEL,
5/8" TYPE 'X' GWB

8 7/8" 40 1HR U340

1W.6 5/8" GWB, 2x6 WOOD STUD, 5/8" GWB 6 3/4" N/A 1HR U305

1WS 5/8" GYP BD,2x6 WD FRAMING, BATT
INSULATION, 3/8"-1/2" WOOD
SHEATHING, WEATHER BARRIER, 1"
RIGID INSULATION, STUCCO
SYSTEM

7 7/8" 1HR EER
#382

ES STUCCO SYSTEM, WEATHER
BARRIE, 3/8" WOOD SHEATHING, 2x6
WD FRAMING, 3/8" WOOD
SHEATHING, WEATHER BARRIER,
STUCCO SYSTEM

6 3/4" N/A NR N/A

ES.4 STUCCO SYSTEM, WEATHER
BARRIER, 3/8" WOOD SHEATHING,
2x4 WD FRAMING, 3/8" WOOD
SHEATHING, WEATHER BARRIER,
STUCCO SYSTEM

5" N/A NR N/A

ESW STUCCO SYSTEM, 1 " RIGID FOAM,
WOOD SHEATHING, 2x6 WOOD
STUD; 3/8" SHEATHING AT
PARAPETS

8 3/8" N/A NR N/A

W 5/8" GWB, 2x4 WOOD STUD, 5/8" GWB 4 3/4" N/A NR N/A

W2 5/8" GWB, 2x4 WOOD STUD, SOUND
BATTS, 5/8" GWB

4 3/4" -- NR N/A

W.2 5/8" GWB, 2x4 WOOD STUD, 5/8" GWB 2 3/4" N/A NR N/A

W.6 5/8" GWB, 2x6 WOOD STUD, 5/8" GWB 6 3/4" N/A NR N/A

WBX.6 BRICK VENEER ON SCRATCH COAT,
1 " RIGID FOAM, WOOD SHEATHING,
2x6 WOOD STUD, 5/8" GYPSUM
BOARD INTERIOR SIDE.

8 1/2" N/A NR N/A

WS.6 5/8" GYP BD,2x6 WD FRAMING, BATT
INSULATION, 3/8"-1/2" WOOD
SHEATHING, WEATHER BARRIER, 1"
RIGID INSULATION, STUCCO
SYSTEM

7 7/8" N/A NR N/A

WSX STUCCO SYSTEM, WEATHER
BARRIER, 1" RIGID INSULATION, 3/8"
WOOD SHEATHING, 2X4 WOOD
FRAMING

5 1/4" N/A NR N/A

WX.6 5/8" GWB, 2x6 WOOD STUD 6 1/8" N/A NR N/A

PRELIMINARY

N

O
T F

O

R

C
O

N

S
T R U C

T

I
O

N



UP

UP

UP

UP

1. DO NOT SCALE DRAWINGS. COORDINATE ALL WORK 
BETWEEN ARCHITECTURAL, STRUCTURAL, CIVIL, 
MECHANICAL, PLUMBING, COMMUNICATIONS AND 
ELECTRICAL DRAWINGS, CONFLICTS SHALL BE BROUGHT TO 
THE ATTENTION OF THE ARCHITECT PRIOR TO THE 
IMPLEMENTATION OF WORK.

2. REFER TO PLUMBING, MECHANICAL AND ELECTRICAL 
DRAWINGS FOR ALL APPLICABLE CODES FOR REQUIRED 
CLEARANCES OF EQUIPMENT.

3. SEE SHEET a8.0 FOR WINDOW  AND DOOR TYPES.

4. SEE SHEET a9.0 FOR WALL TYPES.

5. SEE DOOR SCHEDULE ON SHEET a8.1 FOR DOOR RATINGS.

6. DIMENSIONS THIS SHEET ARE TO FACE OF SHEATHING WHICH 
MATCHES SLAB EDGE, AND TO CENTER LINE OF DEMISING 
WALL.

7. REFER TO SHEET g1.2 FOR MOUNTING HEIGHTS, 
CLEARANCES, CABINET AND COUNTER REQUIREMENTS.

8. REFER TO SHEET g3.0 FOR RATED CEILING/FLOOR ASSEMBLY 
OPTIONS. AND g3.1 FOR RATED WALL ASSEMBLY DETAILS

floor plan general notes

floor plan sheet legend

CLASS

129

A129B

3

A

PARTITION TYPE

WINDOW MARK

DOOR NUMBER

ROOM NAME / NUMBER

SEE SHEET SERIES a8.1

SEE SHEET SERIES a8.1

SEE SHEET SERIES a9.0

a4.0

5

a4.06

a4.0

1

a4.0 2

C

a5.1

C
a5.1

B

a5.0

B

a5.0

A
a5.0

A

a5.0

D

a5.1

D
a5.1

STAIR 1

STAIR 3

STAIR 2
STAIR 4

12'-4" 4'-2 3/4" 24'-0 3/8" 10'-5 1/4" 16'-10" 3'-8 3/4" 9'-3 1/4" 3'-8 3/4" 16'-10" 10'-3 1/2" 22'-11 1/8" 3'-8 3/4" 26'-9"

1'-
6"

27
'-1

1 5
/8"

3'-
2 1

/8"
10

'-2
 5/

8"
20

'-6
 3/

4"
8'-

6"

9'-11" 14'-3" 16'-6 5/8" 10'-3 3/4" 16'-10" 3'-8 3/4" 9'-3 1/4" 14'-0 3/4" 17'-0" 8'-3 1/2" 11'-10 1/8" 21'-0" 3'-0 3/4" 14'-6"

4'-
0"

25
'-0

 3/
4"

10
'-5

 5/
8"

22
'-2

 3/
4"

4'-
8"

7'-
0"

8'-
4"

1'-
11

 7/
8"

4'-
8 1

/4"

2'-
0"

2'-
0"

3'-
9 1

/2"

8'-
6"

22'-0"

3'-
10

 3/
8"

5'-
10

"

7'-
0"

2'-
0"

4'-
8 1

/4"

17'-10"

1'-0"

1'-0"

71'-7 1/8" 84'-3 1/8"

29
'-0

 3/
4"

33
'-1

0 3
/4"

165'-1 1/2"

17'-10"

71'-7 1/8" 9'-3 1/4" 89'-9 1/8"

5.12

UNIT#1 UNIT#1 UNIT #6

UNIT #3aUNIT #4UNIT#1

ST-4 ST-3

ST-1 ST-2

5.12

5.12

5.12

3.3

21.2

WS.6 WS.6

WS.6

WS.6

WS.6
WS.6 WS.6 WS.6

WS.6

WS.6

1WS

WS.6

WS.6 WS.6

WS.6

WS.6

WS.6

WS.6

WS.6

WS.6

WS.6

WS.6

1WS

1WS

1WS

WS.6

WS.6
WS.6

WS.6

WS.6

WS.6

WS.6
WS.6

WS.6

1WS

1WS
1WS

1WS

WS.6

WS.6WS.6

WS.6

WS.6

WS.6

WS.6

WS.6

WS.6

WS.6

1WS

1WS1WS

WS.6

1WS

1WS

1WS

1WS

1WS

3.3

3.3

3.3

F
a5.2

wsx

wsx

WSX

WSX

WWW

W

21.3

28
'-6

 3/
4"

26
'-1

0 3
/8"

7'-
0"

33
'-0

 3/
8"

25
'-0

 3/
4"

35
'-0

 3/
8"

25
'-0

 7/
8"

40'-6 3/4" 31'-0 3/8" 9'-3 1/4" 39'-6 3/8" 50'-2 3/4"

1DDS 1DD

1DS

1DD
1DD

1DDS1DD1DD1DD

1DD

1DS

1DS

1DS

a4.08

a4.07 a4.0 4

8

9

4

4

5

7

3

1WS 1WS

1W.6a4.09
a4.0 3

9.14

9.14

9.149.14

9.14
9.14

2 3
/4"

UNIT #2

UNIT #5

ESES

ES

ES

ES ES

ES ES

ES

ES ES

ES

ES

ES

ES

ES

5 6

3

9

5

D12 D12

D12 D12

D11

22.13

D11

7.27

7.27

7.27

7.27
7.27

7.27 7.27

7.277.27

7.27

4'-
8 1

/4"

4'-
8 1

/4"
15

'-1
0 3

/4"

G

a5.2

5

5

4

75
'-6

 3/
4"

40'-6 3/4" 31'-0 3/8"

25
'-0

 7/
8"

1'-0"

31'-0 3/8" 53'-2 3/4"

25
'-0

 7/
8"

1W.6 1W.6

1W.6

1W.6

32
'-7

 3/
4"

6.24

a9.2
18

a9.2
18

a9.2
11

3'-
8"

2'-2" 2'-2 15/16"

a9.2
14

a9.2
14

a9.2
11

a9.2
11

a9.2
11

a9.2
11

a9.2
11

a9.2
11

a9.2
11

a9.2
11

a9.2
11

a9.2
12

7.27

ES

3'-
8"

2'-1 11/16"

9'-
9 3

/8"
3'-

8"

4'-0 11/16" 2'-1 11/16"

a9.2
18

a9.2
14

a9.2
12

22.13

22.13

22.13

7.27

SIM

2'-
10

 1/
8" WS.6

WS.6

WS.6

WS.6

WS.6

a4.0

5

a4.06

a4.0

1

a4.0 2

C

a5.1

C

a5.1

B

a5.0

B

a5.0

A
a5.0

A

a5.0

a10.0
2

a10.0
7

a10.1
2

a10.1
8

D

a5.1

D

a5.1

14'-3" 26'-10 3/8" 16'-10" 3'-8 3/4" 21'-0 3/4" 2'-3 1/4"0" 14'-7 3/8" 2'-3 1/4" 8'-5 1/4"

S
T

A
IR

 1
S

T
A

IR
 3

STAIR 2

STAIR 4

ST-11

4'-
8 1

/4"
23

'-5
 9/

16
"

4'-
8 1

/4"

WS.6 WS.6

1WS

1WS
1WS

1WS 1WS

WS.6

WS.6

1WS

WS.6
WS.6

1WS
WS.6

1WS

WS.6

WS.6

WS.6

WS.6

WS.6

F

a5.2

wsx

wsx
wsx

wsx

wsxwsx

wsx

31'-0 3/8" 48'-9 5/8" 50'-2 3/4"

71'-4"

a4.08

a4.07 a4.0 4

4 4

5

5

8

9

7

a4.09
a4.0 3

1WS

1WS

1DDS

1DD

1DD 1DD 1DD

1DD
1DD 1DD 1DDS

1DS

1DS

ST-10ST-9

UNIT #2 UNIT#1 UNIT#1

UNIT #5 UNIT#1 UNIT #4

UNIT #3a

UNIT #6

5 6

3

9

5

1WS

1DS
1DS

8'-
4 5

/8"

WS.6

23
'-5

 9/
16

"
4'-

8 1
/4"

15
'-1

0 3
/4"

4'-
8 1

/4"

71'-6 1/8"

WS.6

5

3

25
'-0

 3/
4"

4'-
0"

10
'-5

 5/
8"

22
'-2

 3/
4"

4'-
8"

7'-
0"

33
'-1

0 3
/4"

29
'-0

 3/
4"

2'-
3"

75
'-8

 1/
8"

G
a5.2

WS.6

WS.6

WS.6

2'-2"2'-2 15/16" 12'-4" 4'-2 3/4" 23'-11" 10'-8 3/8" 16'-8 1/4" 3'-8 3/4" 9'-3 1/4" 3'-8 3/4" 50'-0 5/8" 3'-8 3/4" 26'-9" 8'-5 5/8"

92'-8 3/4"

WS.6

WS.6

8'-
6"

WS.6

3'-
9 1

/2"

41
'-4

 3/
8"

28
'-1

1 3
/8"

70
'-3

 3/
4"

WS.6

22'-0" 6'-2 3/8"

WS.6

53'-2 3/4"

17'-10"

2'-3 1/4" 9'-7 7/8" 2'-3 1/4" 18'-7 3/8" 3'-0 3/4" 14'-6"

89'-9 1/8"

170'-6 1/2"

17
'-1

 3/
8"

16'-8 15/16" 59'-3 1/8"
169'-6 7/16"

a9.2
16

2

a9.4

8'-
4"

25
'-0

 3/
4"

33
'-0

 3/
8"

7'-
0"

10
'-6

 7/
8"

2'-
0"

23
'-0

 7/
8"

25
'-0

 7/
8"

10
'-6

 7/
8"

12
'-0

 5/
16

"
25

'-0
 7/

8"
35

'-0
 3/

8"

8'-
6"

26
'-1

0 3
/8"

28
'-6

 3/
4"

8'-
0"

a9.2
17

a9.2
16

a9.2
16

a9.2
16

a9.2
16

a9.2
16

a9.2
16

a9.2
17

a9.2
16

a9.2
16

a9.2
16

a9.2
14

R
O

O
F

 G

7.22

a9.4
8

a9.4
8

a9.4
8

a9.4
8

a9.4
8

7.27
7.27 7.27

7.27

7.27

7.27

7.27
7.277.27

7.27ES ES

ES

ES

ES

ES

ES ES

ES

ES ES

ESES

ES

ES

ES

ES
ES

ES

4

SIM

1'-
2"

1'-2"

1'-
0 1

/2"

1'-0 1/2"

ST-12

D12D12

D12D12

WW

WW
1WS

1WS

1WS

WS.6

WS.6

WS.6

WS.6

WS.6

WS.6

1WS

WS.6

WS.6

job

date

revisions

7350 EAST SPEEDWAY 210
TUCSON, ARIZONA 85710

(520) 326-3700
(520) 326-1148

www.swaimaia.com

OFFICE
FAX

ASSOCIATES LTD
ARCHITECTS AIA

3
/6

/2
0
2
5

 1
:5

6
:4

3
 P

M
A

u
to

d
e

s
k
 D

o
c
s
:/
/H

S
L

 E
n

c
a

n
ta

d
a
 O

ro
 V

a
lle

y
 M

a
rk

e
tP

la
c
e
/2

4
1

5
_
R

2
5
_

E
O

M
_
B

u
ild

in
g
 A

.r
v
t

fl
o

o
r 

p
la

n
 l
e

v
e

l 
1

 a
n

d
 2

 -
B

u
il
d

in
g

 A
H

S
L

 E
N

C
A

N
T

A
D

A
 M

A
R

K
E

T
P

L
A

C
E

2415

03.06.25

L
U

X
U

R
Y

 A
P

A
R

T
M

E
N

T
 H

O
M

E
S

B
U

IL
D

IN
G

 T
Y

P
E

 A

O
R

O
 V

A
L

L
E

Y
, 

A
R

IZ
O

N
A

a1.0

1/8" = 1'-0"a1.0

1
floor plan - level 1 - building A

3.3 CONCRETE SIDEWALK, REFER TO LANDSCAPE AND CIVIL.

5.12 PRE-ENGINEERED STEEL STAIR SYSTEM WITH CONCRETE
TREADS AND STEEL GUARDRAILS AND HANDRAILS.

6.24 2X4 FRAMING THIS SECTION OF WALL FOR DOOR
CLEARANCE.

7.22 OVERFLOW DRAIN SCUPPER THROUGH WALL. 2" ABOVE
LEVEL OF ADJACENT ROOF DRAIN.  SEE DETAIL 14 SHEET
A9.5.

7.27 SCUPPER THROUGH PATIO WALL, 4" X 8".

9.14 STUCCO SYSTEM OVER WOOD FRAMED PARTIAL HEIGHT
WALL.

21.2 FIRE DEPARTMENT CONNECTION.

21.3 ALTERNATE FIRE RISER LOCATION - REFER TO CIVIL SITE
PLAN FOR CONNECTION LOCATION.

22.13 RAIN WATER LEADER OUTLET.

keynotes

WALL SCHEDULE

M
A

R
K

DESCRIPTION W
ID

T
H

S
T

C
 R

A
T

IN
G

F
IR

E
 R

A
T

IN
G

U
L

#

1DD 5/8" TYPE 'X' GWB, 5/8" RESILIENT
CHANNEL, 2x4 WOOD STUDS, 4 1/2"
AIR SPACE, 2x4 WOOD STUDS, 5/8"
SOUND BOARD, 5/8" TYPE 'X' GWB

1' - 0 1/2" 40 1HR U386

1DDS 5/8" TYPE 'X' GWB, 5/8" RESILIENT
CHANNEL, 2x4 WOOD STUDS, 4 1/2"
AIR SPACE, 2x4 WOOD STUDS, 5/8"
SOUND BOARD, 5/8" TYPE 'X' GWB

1' - 0 7/8" 40 1HR U386

1DS 5/8" TYPE 'X' GWB, 1/2" RESILIENT
CHANNEL, 2x4 WOOD STUDS, 1/2"
AIR SPACE, 2x4 WOOD STUDS, 1/2"
SOUND BOARD, 1/2" SHEAR PANEL,
5/8" TYPE 'X' GWB

8 7/8" 40 1HR U340

1W.6 5/8" GWB, 2x6 WOOD STUD, 5/8" GWB 6 3/4" N/A 1HR U305

1WS 5/8" GYP BD,2x6 WD FRAMING, BATT
INSULATION, 3/8"-1/2" WOOD
SHEATHING, WEATHER BARRIER, 1"
RIGID INSULATION, STUCCO
SYSTEM

7 7/8" 1HR EER
#382

ES STUCCO SYSTEM, WEATHER
BARRIER, 1" RIGID INSULATION, 3/8"
WOOD SHEATHING, 2x6 WD
FRAMING, 3/8" WOOD SHEATHING,
WEATHER BARRIER, 1" RIGID
INSULATION, STUCCO SYSTEM

6 3/4" N/A NR N/A

W 5/8" GWB, 2x4 WOOD STUD, 5/8" GWB 4 3/4" N/A NR N/A

W.2 5/8" GWB, 2x4 WOOD STUD, 5/8" GWB 2 3/4" N/A NR N/A

W.6 5/8" GWB, 2x6 WOOD STUD, 5/8" GWB 6 3/4" N/A NR N/A

WB.6 WESTERN ONE COAT STUCCO
SYSTEM, 1 " RIGID FOAM, WOOD
SHEATHING, 2x6 WOOD STUD, 5/8"
GYPSUM BOARD INTERIOR SIDE.

8 1/2" --

WS.6 <varies> <varies> <varie
s>

wsx STUCCO SYSTEM, WEATHER
BARRIER, 1" RIGID INSULATION, 3/8"
WOOD SHEATHING, 2x6 WD
FRAMING

5 1/4" N/A NR N/A

1/8" = 1'-0"a1.0

2
floor plan - level 2 - building A

PRELIMINARY

N

O
T F

O

R

C
O

N

S
T R U C

T

I
O

N



1. DO NOT SCALE DRAWINGS. COORDINATE ALL WORK 

BETWEEN ARCHITECTURAL, STRUCTURAL, CIVIL, 

MECHANICAL, PLUMBING, COMMUNICATIONS AND 

ELECTRICAL DRAWINGS, CONFLICTS SHALL BE BROUGHT TO 

THE ATTENTION OF THE ARCHITECT PRIOR TO THE 

IMPLEMENTATION OF WORK.

2. REFER TO PLUMBING, MECHANICAL AND ELECTRICAL 

DRAWINGS FOR ALL APPLICABLE CODES FOR REQUIRED 

CLEARANCES OF EQUIPMENT.

3. SEE SHEET a8.0 FOR WINDOW  AND DOOR TYPES.

4. SEE SHEET a9.0 FOR WALL TYPES.

5. SEE MECHANICAL, PLUMBING AND ELECTRICAL FOR ALL 

PENETRATIONS THROUGH ROOFS. REFER TO TYPICAL 

DETAILS.

6. ROOF HEIGHTS SHOWN ARE TOP ROOF UNO.

7. SEE SHEET a9.9 FOR TYPICAL ACCESSIBILITY DETAILS, 

CLEARANCES, MOUNTING HEIGHTS AND REQUIREMENTS.

8. UNVENTILATED ATTIC SPACES, ROOF INSULATION SHALL BE 

AIR-IMPERMEABLE SPRAY FOAM APPLIED TO THE BOTTOM OF 

THE ROOF DECK, CONTINUOUS.

general notes

CLASS

129

A129B

3

A

PARTITION TYPE

WINDOW MARK

DOOR NUMBER

ROOM NAME / NUMBER SEE SHEET SERIES "X"

SEE SHEET SERIES "X"

SEE SHEET SERIES "X"

SEE SHEET SERIES "X"

floor plan sheet legend

a4.0

1

a4.0 4

a4.02

a4.0

3

5

a4.0

GARAGE

100

OFFICE

101

SHOP

102
RESTROOM

106

TOOLS

105

STOR. 1

103

STOR. 2

107

FIRE RISER

104

1
0
2

105

103107

104
WS.6

WS.6

WS.6

WS.6

W.6

W

W

W

W

W

W

A

100A1
0
0

6

a4.0

8.4

7.16 7.16

10.4 10.3

7.16

21.2

21.1

26.1

23.7

22.2

10.26

8.1

22.1

ABOVE ABOVE

ABOVE

24'-0"

40
'-0

"

16
'-7

 3
1/

32
"

10'-4"

8'
-0

"

2'
-9

 1
/8

"

4'-2" 4'-4" 5'-10" 9'-8"

7'
-2

"
8'

-2
"

3'
-0

"
8"

3'
-5

 1
/2

"
16

'-4
 1

5/
32

"
1'

-2
"

24'-0"

37
'-2

 7
/8

"

2'-2" 3'-0" 5'-2" 10'-0" 3'-8"

3'
-0

 5
/8

"
4'

-6
 7

/8
"

7'
-8

 1
/2

"

13'-8"

40
'-0

"

2'
-0

"

13'-8"

W

W

10.7

8'-3"2'-1"

0.1

5.2

5.2

10.22

1'-4 5/8" 21'-2 3/4" 1'-4 5/8"

a9.0
3

a9.1
15

3.1

23.5

1
0
6

22.15

3.73.7

22.22

23.9

10.19

7.287.28

9.22

W.6

9

a4.0

a9.1
9

WB.6 WB.6

a1.05 7

4

6

a1.0 8

5

a4.0

6
a4.0

102

104 107 103

105

106

101

100

10' - 0"

10' - 0"

8' - 0"

10' - 0"10' - 0"10' - 0"10' - 0"

10' - 0"

8.4

26.5

9.89.8

TYP

22.67
a9.1

7.16 7.16

7.16

9

a4.0 5.2
5.2

9.20

11' - 0"

9.8

8.15

5

a4.0

6

a4.0

11

a9.2

7

a9.1

5
" 

/ 
1
2

"

5" / 12"5" / 12"

5" / 12" 5
" 

/ 
1
2

"

5" / 12"

5
" 

/ 
1
2

"

5
" 

/ 
1
2

"

7.16

7.16

7.25

18

a9.2

16

a9.2

9

a4.0

1' x 4' LIGHT FIXTURE

MECHANICAL SUPPLY REGISTER

MECHANICAL RETURN REGISTER

MECHANICAL EXHAUST REGISTER

GYPSUM WALLBOARD SOFFIT / CEILING

general notes

2' SKYLIGHT LENS

CAN LIGHT

STUCCO SOFFIT / CEILING

4'
-0

"

26.5

10.21

22.1

10.26

22.2

9.30

9.7

4'
-0

"

9.30

9.722.1

8.3

9.30

9.7

4'
-0

" 9.30

9.7

10.26

22.2

22.6

22.22

8.3

9.30

9.7

keynotes

0.1 LINE OF ROOF ABOVE.

3.1 CONCRETE FOOTING, REFER TO STRUCTURAL.

3.7 CONCRETE SLAB ON STEEL DECK, REFER TO

STRUCTURAL.

5.2 STEEL COLUMN, REFER TO STRUCTURAL.

7.16 DOMED ACRYLIC SKYLIGHT SYSTEM WITH 24" DIAMETER

LENSE AT CEILING LEVEL.

7.25 CONCRETE ROOF TILE SYSTEM OVER BATTENS.

7.28 VAPOR BARRIER AT BACK OF GWB THIS SIDE OF WALL.

CONTINUOUS AND SEALED FLOOR TO BOTTOM OF DECK.

8.1 ALUMINUM FRAME WINDOW SYSTEM WITH INSULATED

GLAZING.

8.3 DOOR AND FRAME, REFER TO DOOR SCHEDULE.

8.4 OVERHEAD COILING DOOR.

8.15 24" X 30" CEILING ACCESS PANEL, COORDINATE FINAL

LOCATION WITH OWNER.

9.7 WALL BASE.

9.8 GWB CEILING.

9.20 GWB CEILING SUSPENDED ON LIGHT GAUGE METAL

FRAMING.

9.22 BRICK VENEER.

9.30 FIBERGLASS REINFORCED PLASTIC WALL PANEL

WAINSCOT.

10.3 WASHER.

10.4 DRYER.

10.7 TOILET PAPER DISPENSER.

10.19 FIRE DEPARTMENT KEY BOX, KNOX BOX OR EQUAL AS

APPROVED BY AHJ.

10.21 MIRROR.

10.22 ADA COMPLIANT RESTROOM SIGNAGE.  REFER TO

DETAIL 14 SHEET G1.2.

10.26 ACCESSIBLE GRAB BARS.

21.1 FIRE RISER ASSEMBLY.

21.2 FIRE DEPARTMENT CONNECTION.

22.1 SINK, REFER TO PLUMBING.

22.2 TOILET, REFER TO PLUMBING.

22.6 WATER HEATER, REFER TO PLUMBING.

22.15 DRINING FOUNTAIN - REFER TO PLUMBING.

22.22 LAUNDRY SINK- REFER TO PLUMBING.

23.5 HIGH/LOW RETURN REGISTERS IN WALL - REFER TO

MECHANICAL.

23.7 HVAC UNIT - REFER TO MECHANICAL.

23.9 DRYER VENT THROUGH WALL - REFER TO MECHANICAL.

26.1 ELECTRICAL PANEL, REFER TO ELECTRICAL.

26.5 LIGHT FIXTURE, REFER TO ELECTRICAL.

job

date

revisions

7350 EAST SPEEDWAY 210
TUCSON, ARIZONA 85710

(520) 326-3700
(520) 326-1148

www.swaimaia.com

OFFICE
FAX

ASSOCIATES LTD
ARCHITECTS AIA

1
/1

3
/2

0
2

5
 2

:0
2
:1

4
 P

M
C

:\
U

s
e
rs

\m
fo

y
t\
D

o
c
u
m

e
n
ts

\2
4

1
5
_
R

2
5
_
 E

O
M

_
M

a
in

te
n
a
n
c
e

 B
u
ild

in
g

_
C

F
_

m
fo

y
t@

s
w

a
im

a
ia

.c
o
m

.r
v
t

fl
o

o
r 

p
la

n
H

S
L

 E
N

C
A

N
T

A
D

A
 M

A
R

K
E

T
P

L
A

C
E

1728.08

11/08/2024

re
fl

e
c

te
d

 c
e

il
in

g
 p

la
n

ro
o

f 
p

la
n

L
U

X
U

R
Y

 A
P

A
R

T
M

E
T

N
 H

O
M

E
S

M
A

IN
T

E
N

A
N

C
E

 B
U

IL
D

IN
G

O
R

O
 V

A
L

L
E

Y
, 

A
R

IZ
O

N
A

a1.0

n
o
rt

h1/4" = 1'-0"a1.0

1
floor plan

n
o
rt

h1/4" = 1'-0"a1.0

3
reflected ceiling plan

n
o
rt

h1/4" = 1'-0"a1.0

2
roof plan

1/4" = 1'-0"a1.0

4
restroom 106 - s

1/4" = 1'-0"a1.0

5
restroom 106 - w

1/4" = 1'-0"a1.0

6
restroom 106 - n

1/4" = 1'-0"a1.0

7
restroom 106 - e

1/4" = 1'-0"a1.0

8
shop 102 - e

PRELIMINARY

N

O
T F

O

R

C
O

N

S
T R U C

T

I
O

N



STOP

STOP

801

2690.99

802

2697.28

804

2676.71

805

2677.64

STOP STOP

STOP

+12 "

+12 "

+18 "

+42 "

+36 "

+14 "

+18 "

+14 "

+18 "

+36 "

922'-2"

19
'-6

"

5'-
0"

38
'-0

"

BUILDING #11BUILDING #6BUILDING #7BUILDING #5 CLUBHOUSE

mechanical shown in magenta color for reference line of site from vantage point

363'-2"

5'-
0"

26
'-4

"

17
'-6

"

BUILDING #5BUILDING #6BUILDING #4

line of sight from vantage pointmechanical shown in magenta for reference

44
'-0

"5'-
0"

1639'-7"

26
'-9

"

BUILDING #1BUILDING #3BUILDING #4BUILDING #5BUILDING #8

mechanical shown in magenta color for reference line of sight from vantage point

3

a5.0

3

a5.0

2
a5.0

2

a5.0

4
a5.0

4

a5.0

location 3

elevation 2694'

+19' above closest FFE

location 2

elevation 2695'

+17' above closest FFE

34
5'-

4"

92
3'-

3"

location 1 

elevation 2724'

+44' above closest FFE

TANGERINE RD.

N
. 
IN

O
V

A
T

IO
N

 P
A

R
K

W
A

Y

N
. 
C

E
N

T
A

U
R

U
S

 P
L
.

N
. 
M

E
T
E
O

R
 P

L
.

N. LABYRITH PL.

A1

B2

B3
B4

A5

B6
B7 B8

B9
B10

B11

B12

B13

B14

job

date

revisions

ASSOCIATES LTD
ARCHITECTS AIA

7350 EAST SPEEDWAY 210
TUCSON, ARIZONA 85710

(520) 326-3700

www.swaimaia.com

3
/7

/2
0
2
5

 1
:1

6
:3

4
 P

M
A

u
to

d
e

s
k
 D

o
c
s
:/
/H

S
L

 E
n

c
a
n

ta
d
a
 O

ro
 V

a
lle

y
 M

a
rk

e
tP

la
c
e
/2

4
1
5

_
R

2
5
_

 E
O

M
_

S
it
e
 P

la
n
_
C

F
.r

v
t

s
it

e
 v

ie
w

s
h

e
d

 s
e

c
ti

o
n

s
H

S
L

 E
N

C
A

N
T

A
D

A
 M

A
R

K
E

T
P

L
A

C
E

2415

03.06.25

L
U

X
U

R
Y

 A
P

A
R

T
M

E
N

T
 H

O
M

E
S

C
O

M
M

O
N

 A
R

E
A

S

O
R

O
 V

A
L

L
E

Y
, 

A
R

IZ
O

N
A

a5.0

PRELIMINARY

N

O
T F

O

R

C
O

N

S
T R U C

T

I
O

N

1" = 40'-0"a5.0

3
offsite view section 3 - catalina shadows

1" = 40'-0"a5.0

2
offsite view section 2 - intersection

1" = 40'-0"a5.0

4
offsite view section 1 - bridge

n
o
rt

h1" = 100'-0"a5.0

1
site plan viewshed


	Sheets
	sd02 - Unnamed

	1

